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Practice 1-1 61

1. 47,53 2. 1.00001,1.00001 3. 42,54 4, —64,128 -

5,22,29 6. 6356375 7. Sample2or3 8. 51 1|5

or4dd 9. 60r8 10. AorAA 1L DouG = Bl

12. YorA  13. any hexagon 4. circle with 8 equally 3

spaced diameters 15, a 168.75° angle  16. 21 hand- Front Front Top Right

shakes 7.7 ="—1 18,34 19, Sample:The
farther out you go, the closer the ratio gets to a number that is 7.ACD 8C 9.D 10.B 1. A
approximately 0.618.  20. 0,1,1,2,3,5,8,13

Practice 1-3

Practice 1-2 [ 1. AC 2. any two of the following: ABD, DBC, CBE,
| ABE, ECD, ADE,ACE,ACD 3. Points E, B, and D
{ arecollinear. 4.yes S.yes 6.no 7. ono

H

] B.yes 9.mo 10.yes Tlyes 12 yes |
t13.n0 Hyes 15.yes 16.G 17 LM

| 18. PN 19. theemptyset 20 KP 2. M
@ 22. Sample: plane ABD 23. Sample:plane ABC

i

{ 4.4 25.yes  26.m0  27. yes
i 28. theemptyset 29.no  30. yes 31, yes

Practice 1-4

1. true 2. false 3. true 4. falke 5. false

6. false 7. JK,HG 8. EH 9. any three of the
following pairs:(ﬁ‘) andfﬁf;‘ﬁ‘) andGK ;m}) andﬁ;
ﬁand?[?;ﬁ andﬁ;ﬁf andﬁ;E(_f andF(T});E‘TI)
and ﬁ,ﬁ and ﬁ,ﬁ and ﬁ,‘-ﬁf andKF ;ﬁ and
GE 1. planes Aand B 11, planes A and C; planes
Band C 12 planes Aand € 13. planes B and C

14. Sample:E_(_}’ 15.6 16. EF andED orEG and
ED 17.FE,FD 18.GF,GD  19.7ves

4. 20. Sample:

4
A72%

Front Top Right 21, Sample:
5. ) - R
2
2 [ ® L%
]"

w
Front )

Front Top Right
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Chapter 1 Answers (continued)
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Practice 1-5

.4 212 3.2 4.6 522 6 —10oré
7. —1lorl 8. 3400 9 66y 10, Cor—2

1115 12,31 13. 14  14.x=11%4B =34

BC=31 15. x =35%,AB = 103; BC = 103

Practice 1-6

1. any three of the following: 20, ZMQOF, LPOM, 41

2. £A0OB 3. LEOC 4 /.DOC 551 6.%
7.17 8107 9.14 10.68 11, LABD, /DBE,
LEBE /DBE /FBC 1. £ABE /DBC  13. LARBE,
ZEBC 14, x = 5,821;13 15, x = 9;85;35;120

Practice 1-7
1.

<4
b Y

X

-

—

~
N

e
-~

> 8
<@

X

~
~

\/

Z

5. A

B f 45" N
) b e I -
\

X
6.  mn |\ oP | -

A ] /B g
7. oP R
. [ MmN ] .
K A I i
8.
22
<1 A .
A ] -
9,
10.
2-/2
22 N
c -
11.
— N
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Practice 3-1

1. corresponding angles 2. alternate interior angles

3. same-side interior angles 4. alternate interior angles
5. same-side interior angles 6. corresponding angles

7. 21and 25, £2and £6, /3 and £8, 24 and 27

8. Z4and £6,£3and 25 9. s4and 25,23 and 26
10. m-1 = 100, alterate interior angles; m22 = 100,
corresponding angles or vertical angles 1. m/Z1 =75,
alternate interior angles,m/£2 = 75, vertical angles or
corresponding angles  12. m£1 = 135, corresponding
angles; m/.2 = 135, vertical angles 13, x = 103;77°,103°
14 x = 24;12°,168° 15, x = 30;85°,85°

16a. Alternate Interior Angles Theorem  16h. Vertical
angles are congruent.  16¢. Transitive Property of
Congruence

Practice 3-2

1a. same-side interior
1d. same-side interior e, Same-Side Interior Angles

1. 7S 19.35 2. /andm, Converse of Same-Side
Interior Angles Theorem 3. none 4, BC and AD,
Converse of Same-Side Interior Angles Theorem 5. RT
and HU, Converse of Corresponding Angles Postulate

6. BH and CI, Converse of Corresponding Angles Postulate
7. a and b, Converse of Same-Side Interior Angles Theorem
843 9.9 10.38 11100 12.70 13.48

1. OR 1. TS

Practice 3-3

1. True. Every avenue will be parallel to Founders Avenue, and
therefore every avenue will be perpendicular to Center City
Boulevard, and therefore every avenue will be perpendicular
to any street that is paratlel to Center City Boulevard.

2. Not necessarily true. No information has been given about
the spacing of the streets. 3. True. The fact that one
intersection is perpendicular, plus the fact that every street
belongs to one of two groups of parallel streets, is enough to
guarantee that all intersections are perpendicutar. 4. True.
Opposite sides of each block must be of the same type (avenue
or boulevard), and adjacent sides must be of opposite type.

5. Not necessarily true. If there are more than three avenues
and more than three boulevards, there will be some blocks
bordered by neither Center City Boulevard nor Founders
Avenie, 6.ale T.alle 8.alle 9.ale
10.2ate 1l.alle 12, If the number of Lstatements is
even, then €4 | €,. K itis odd, then €; L €,.  13. The proof
can instead use alternate interior angles or alternate exterior
angles (if the angles are congruent, the lines are parallel) or
same-side interior or same-side exterior angles (if the angles
are supplementary, the lines are parallel).

14. 1t is possible.

Practice 3-4

1.125  2.69 3,143 4.129 5 140 6. 136
7.x=35y=145z=25 8.a=55b=9Tc=83
9 v=118w=37t=62 10.50 11. 88

12. m23 = 2;ms4d = 22;ms5 =88 13, 571
14. 136 15. m4l = 33;ms2 = 52 16. isosceles
17. obtuse scalene  18. right scalene  19. obtuse
isosceles  20. equiangular equilateral

Practice 3-5

L.x=120y=60 2.n=52 3 a=108b="72
4,109 5.133 6.129 7.129 8.47 9.127
10.30 11.150 126 13.5 14.8

15. BEDC  16. LFAE 17. /FAEand /BAE
18. ABCDE 19, 20

Practice 3-6

1_y=%x_7 2.y=-2x+12 3.y=7x—18
4.y=—%x—3 5.y=%x—% 5.y=§'~x—2
Jy=4dx—~13 8. y=-x+6
9. ¥ £ 10
I a4 ;
iy =4%x —
21
£ ;‘i ] X £ 2 244
=0 yiRaRs 5
I ) 3
1. TRNRRAEYY T 12. g=se— 1
y=zX pa 6
ra ENTIFRL y
2 . g 5 A
e} =
E ;:-,.-\'E *
13. Vi 14. ol
£ - = A._"7 ﬁ S = -3
b 4 24 .4 2 27 X
15 N L { ’ 16 gt
Pl s oly 2 2
I EaL ra e 5 :E.: 1
4 §
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Chapter 4 Answers
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Practice 4-1 ) 6.c = —1;
1a.yes 1b.no 1¢ yes Qano 2b, yes 2¢.yes . @ —————
3a.no 3b.yes 3c.no da.yes 4b.yes 4C yes —5-4-3-2-1 0 1 2 3 45
(53.no 5b.yes 5c.yes 6a.no 6b.yes 6c.no o
7a.no 7b{ TeooBix> -5 %.x= -5 - 7g<13
10‘.x<3'1®x2—8 o et ———————+—
12 D Ot o1z 4 ie 18 2
-2-1 0 12 3 4546 738 : '
B.d <27
13.:::.;1:::::;l e l—j—_——T) || — |
—12 —10 -8 ~6 —4 =2 0 0.9 1.8.7 27 38
(4] et 9.f=10;
01 56 7 8 910 —t—t——t—t—tt-e »
234 2 3456 7 8 9101112
15. 31 1 (] LI 2 > ‘:
T T T ™ g y -
—8-7-6-5-4-3-2—1 0 1 2 10.x = —4 :
- ot ——— it}
16 ~8~7~6~5-4-3-2-1 0 1 2
" e P———————
-.—8_7_6_5—4"’3“2'—1 01 2 Md =S5 ) |
17, bt G- =
6 7 8 910111213 14 15 16 -1 012345678
18. Let 1 = temperature (in degrees Fahrenheit), t=38 Rm=—1 ) P
19. Let w = weight (in Ib); w = 2000 - Gmi—pp— >
20, Let n = number of students, n = 20 T “_""4"73‘2_1 0 172345
21. Let n = mamber of people; n = 250 o '
22. Lets = speed (in mi/h); s < 55 , By <7, | E
23. Letn = number of points; 450 = n = 500 : | s}
24, Letcwcucumference(mm)c>900 - 01 2345678910
25.C 26.D 27.B 28.A ' : ‘
Bt = _—13; ) )
H O p——|————t——-
E’r}?f‘;e 4-2 ' -1 ~13 -1 -9 -7 =5
5 9 1011 5.y >5
bt Db
2p5 2 0123456782910
SRSy
e oy L
3r> 215 0123456738910
r> —L5; L o .
e 17.d < 1;
- fome D1
Iy —5-4-3-2-1 0123 4 5
3 ::1 4 % ; 7 133":'0-‘
- <= e} B
1 —5-—4—3—2—1 01 2 3 45
5.n>~Z; o
194 = —4;
D ——{———————_— prar— t{{:_:'f_g;
- 1 1 3
L s v 3 ~8~T7 —6~5-4=3-2—1-0 1 2
‘\
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20, = 10 . 37.b =5
el swnsmeleye el ——{——f——} el ————f——————|——}
—-4-2 0 2 4 6 8 10121416 -2-1 0 1 2 3 456 78
21.n + 94 + 82 + 87 — 2 = 360, where n = number of 38.k < -2
points; at least 99 points 22.n + 125 = 140, where n = B - WA M WU SOV S W
nomber of at-bats; at least 15 at-bats 23,5 + 19 — § = 32, —5-4-3-2-1 0 1 2 3 4 5
where s = average wind speed at 8 A.; 18 mith
24.¢ + 135 = 25, where ¢ = time in minutes; 11.5 min 39.0 =2,
25.n + 3.5 = 5,where n = number of miles; af least 1.5 mi < ; ) ————}
26,1058 + 44.50 — w = 1000, where w = amount of —5-4-3-2-1 012 3 4 5
money withdrawn; $102.50
27. = -1}, 40.5 > 11; _
1 L ' 1l H [ 1 Fan? 2 2 '
B | T T T 1 T D ' -
- j— sy 4 56 7 8 9 1011121314 .
-5—-4~3-2-1 0 1 2 3 4 5 g
81k > 11; 8
28.d = -5, - pan s 2
P . Ot —1 10 11 12 13 =
-8-7—6-5-4-3-2-1 0 1 2 <
42,7 > 1.5 .
29, v > 2; , R e
NN U 7—0.500.511.522.533.5
—5—-4-3-2-~1 0 1 2 3 4
Practice 4-3
0.m > —4 ‘ I.sz% .
A e e e S } - : : ,
—B—-7—6~5—f3w2~1 0 1 2 R e e e e A st s sy
' ' 113153723851
4 2 4 4 2 4 4 2 4
3. f> -5 =
- e T SRR - b=5; -
~8-7-6-5-4-3-2-1 ¢ 1 2 2
e p—— Z
4 5 6 B
32w = -3 ' £
et 3.r > —10; 5
~4-3-2-1 0 1 2 3 4 PR . .'} %
1 ~16 -14 -12 —-10 -8 -6 o
33.5 > “Ei?, E
Dl b 4 e 4on > 20; 3
-1 0 1 1 3 2 =
2 2 2 19 20 21 £
341 < -23;, | 8
e B—— e —— S5.n=4 §
-24 -23 -22 -21 -20 -19 | 3
' 3 45 g
35.u <2 :
—— S R 6.n= —42; o
-5—-4-3-2-1 0 1 2 3 4 5 o
: —42 —40
36.z = 4
et e = l.c > —4;
-2—-1 0 1 2 3 456 7 8 . . N——
T T ¥ T T g Y
~8—-7—-6-5-4-3-2-1 0 1 2
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Chapter 4 Answers (continued)
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8.d > ~4 23. 34n = 3.84, where n = number of stamps; 11 stamps
e (i 24, 0.5n = 31, where n = number of bricks; 62 bricks
-f -4 -3 25,555 = 275, where 5 = spcedmml/h SOmﬂh
26. h < 19.6;
8.1 > 15 L S A A ——
R B e e s o 19 19.5 20
10 11 12 13 14 15 16 17 18 19 20 ' 3
27.x <9 :
————— 7.8 910
-10--9 —8 :
28,4 < —81;
Mow>0 I
D -8 -8
-2-1 ¢ 1 2
28. b = 15
12.v > 2.5 e
. S T 13 14 15 16
2253 35 4 45
30.g < ~25
13, m < 10; B T e s MW I
)+ -2 =35 -3 A -1 -7
7 8 9 10111213 141516 17
3L =4
14.p = 34 e o
F o4 : : : 34 5
33 34 35 36
32.c > —14
15v<~—05 L s
“ ot ——+—+— —10 -8
--5-—4—3—2—1 ¢ 12 3 45
) 33.b = —12.4; :
1Gx<45 sl ——
< e ———4 -14 ~13.6 —13.2 —12.8 ~12.4 —12
40 é! 42 43 44 45 46 47 43 49 5{}
: 34.p < -3
17.d = -7, L 2R
L —5—4—3 2
—9-8-~7~6
- 35,z < =5
e <= P—t—t——+
Bx=-% —11-9-7-5-3-1 0 1
. s
~9-8-7-6 36.y = 42 S
= e — -
WB.c<9 32 34 36 38 40 42 44 46
8 910 37.k > 16;
e B e N . e
2.2 = -4 456 7 8 910111213 14 _
-5~4-3 38,y < 34 '
21, 8k = 40, where & = number of hours; 5 hours s e S SR Aant e e

22, 7n = 28, where n = number of vans; 4 vans 31 32 33 34 35 36 37 38 39 40 41
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39.b = 5; 3 k>dork <2
e D e s e e e
3 4 5 6 7 ~3=2—-1 0 1 2 3 4 5
40,k < —3; 4.b>200rb < 18;
e B B s € S o
—5—-4-3-2 _ 17 18 19 20 21
41, d < 4.4, 5.-3<d< -2
e T £ 2 3 I 3 Fan) (3 3 1
- e Tt P Py
3.2 36 4 4.4 4.8 - ~3—-2—1
42.v > 171 6.—6 <t<2
o - e e o e
70 72 74 16 78 80 -7-6-5-4-3~2-1 0 1 2 3 :
43.n =5 7.-6 <5 < 4 %
et - et S S 2
3 456 —8—6—4~2 0 2 4 6 )
Ed
44.y < 68; 8.j=2o0rj= -2
) S e e L
67 68 69 -3-2-~1 0 1 2 3
45.k < —4 9. 2<x<?
(st 5|
—6-5-4-3-2 ~3-2-1 0 1 2 3
Practice 4-4 10.g > —3org < -3
1.2<3 2k>2 3.y<3 4h=-15r>3 DI N S .
6u<20 7.g=2 8.h<5 9p<5 10.m=35 =
Ma>-1"12.1=0 13.x>6 U4f>4 e . 2
15.0> =9 6.c=6 17.6> —6 18,y <1 M-d<y=<-t £
19.150 + 35n = 350, where n = number of boxes; at most ___é _‘g_&_é -i —-T 6 WE
20boxes 20.5(6) + 4n = 62, where n = number of tables 7 a
seating four people; no more than 8 tables ) @
21.5 + 1.25n = 15, where n = number of rides; 8 rides 1.f>50f< -2 l‘l,g
22.19.50 + 0.25n = 44, where n = number of miles; 98 mi - T A A S S s S M i
23.3(200) + 5n = 1000, where # = number of adults; a -3-2-1 123 456 &
least 80 adults ‘ '§'
24.b<7 25.n<-2 26.d< 05 2Lt < -2 1B.d>Tord < -1, g
28,j < —12 29, x=5 30.z>1 3. b <6 . £
32.y=-8 33.f<1 34 k<3 35.g=5 . =2-101234567¢8 s
36.g> -9 37.y<0 38.¢t>-539.d>13 - .8
D.n<2 Nd=4 4. -2 < h <~ =2
[ =4
. ° o
Practice 4-5 , —4=3-2-1 0 1 $
)
L-W<s<§ 15.2 > lora < -2
L e e O N B e e T
—10-8-6—-4-2 0 —3-2-10 1 2
2.-1<x<?2 16.z = 1.05orz < —195; : ‘
S N - | Bttt D '
—2-1 0 1 2 3 -1.95 : . 1.05
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Chapter 4 Answers (continued)
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17.c = 3ore < -1;

& Y
-

=R

¥

we
P B

18.h< ~1lorh > 2

B S e e “am e
-2-1 0 % 2 3

19. —750 = n — 10,000 = 750, where # = number of
people; from 9250 to 10,750 people;

A e e e e
9250 10000

9
10750

20.25 < Sn < 30, where n = number of miles;
between 5 and 6 mi;

Bt L e e L e S e
-2-1 0 1 2 3 45 6 7 8

21,6294 < 55 + w < 630.6, where w = weight in grams,
more than 623.9 but less than 625.1g;

1 [3 m f'l\ l 3
T T T

623 9 624 5 625 1

22,500 < 395 + 4 < 600, where d = dollar amount left to
sell: between $105 and $205;

E] [ Y 1 k] & Il Fan 1 1 1
T LA™ ” a2 T g —r T T
105 205

Brnz=lorn=s(,

]

ERRERE
25,1 < h <3
6?2“3’&
26.-12 < p < 02
R m S
-18 —-14 -1.0 -06 -02 0.2
2.7 <x <y
e}
6 .7 8 9% 10
28.m <3orm >8R
234567839
29, 6 =x =< -2
oo p——— | —— - —1
~9—8~7~6—-5-4-3-2-1 0 1

‘.'.'.II..I.II.......""....l..........-"..‘..."..I".....................
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Algebra 1 Chapter 4

30, -2 < x < ~—1;
-3-2-1 ¢

x> 0orx < —4;

B.w>Torw < —1;

PR R, . N |
B ™~ R S

A 4

-2—-1 0 1 2

M, -1<x<2

L

1

N

5.1 0 4
35.1 < ~3ort>3%
351 0
36.6<g <8
56 7 8 9

37.x=lorx =0
e e
-1 -0

o
»

12

8.y <lory>1
B s

1

H A“l'\

w4

[ 3

Y-

oo 4

2 3 4

—5—4—3—2—1 0 1 2 3 4 5

Practice 4-5
ld>2ord < —2

-3-2-1 0 1 2

2h<—-6orh>¢

3

3.k>dork < —4

PR S, . S

enéd

o

- 11 L 3

i
13

ds< —bors> -2

FusY Fan
N 3 W
-2

L]

¥

SRl






